	CIS 0083 - 2 Quiz #4

	Name:




	Question 1:  1 point
Build an appropriate structure of inheritance with the following classes (their names define their meanings, take it intuitively):
Student, Employee, Graduate, Undergraduate, Person, PhD, MastersDegree, Faculty, Staff,NonDegree



	Question 2: 1 point
Suppose a class named SportsCar is a derived class of a class called Automobile, Automobile has public methods named accelerate and addGas. Which of the following statements is true:
· SportsCar necessarily has the methods accelerate and addGas ONLY, no other methods are allowed, since no other methods are inherited

· SportsCar has AT LEAST the two methods mentioned, it might add its own methods

· SportsCar does only have access to the two methods if casted to Automobile, which is possible since it’s a derived class

· SportsCar has the two methods if they are STATIC



	Question 3: 1 point
What does overriding mean ?
· To me ? nothing.

· Defining an identical method (name, i/o-parameters) in a (super-)class  that is performed instead of the original method in a subclass, derived from the superclass

· Defining an identical method (name, i/o-parameters) in an inherited class that is performed instead of the original method in the superclass

· Defining multiple methods in one class with the same name but different input parameters



	Question 4: 1 points
What’s the difference between overriding and overloading ?


	Question 5: 2 points
Suppose class AE is derived from class A, both classes define a method called ‘explore’, with the difference that A controls a robot on the moon, AE controls a robot on mars. Let a,b,c,d be instances of AE (!) but put into an array defined by:
A robot[ ] = new A[4];     // array of type A

i.e.: robot[0]=a, robot[1]=b, …

What does the line robot[2].explore do ?

· Control something on the moon

· Control something on mars

· Control something on earth, since these space things are always fake

· Nothing, robot is an array, not an object of type A or AE

	Question 6: 1 point

A derived class…
· MUST contain methods AND fields

· MUST contain methods only

· MUST override methods of the superclass

· Could contain no additional methods and fields

	Question 7: 1 point

An empty method (= body { } )in a class: 

· Can be overridden

· Must be overridden

· Must never be overriden


	Question 8: 1 point

A non empty method (= body { } )in a class: 

· Can be overridden

· Must be overridden

· Must never be overriden


	Question 9: 1 point

Suppose public void explore() being a method in class A, overridden in the derived class AE. What’s correct?

· A.explore must have an empty body (= { } )

· A.explore must NOT have an empty body

· A.explore can never be overridden

· A.explore can always be overridden














